#### Proposed NU Business Name: MASUD ENTERPRISE



Project identification and prepared by: MD. Nurul Islam, Kaliakair Unit, Gazipur

Project verified by: MD. Mizanur Rahman Patwari



Brief Bio of The Proposed Nobin Udyokta				
Name	:	MD MASUD RANA		
Age	:	07-05-1990 (26 Years)		
Education, till to date	:	Class Eight		
Marital status	:	Single		
Children	:	N/A		
No. of siblings:	:	1 Brothers & 2 Sister		
Address	:	Vill: Lohakoir, P.O: Mouchak, P.S: Gazipur Sadar, Dist: Gazipur		
Parent's and GB related Info (i) Who is GB member (ii) Mother's name (iii) Father's name (iv) GB member's info	: : :	Mother Father  PIYARA BEGUM  MD ABDUL GANI  Branch: Mouchak Kaliakair, Centre # 46 (Female),  Member ID: 6126, Group No: 04  Member since: 27-06-2007 (09 Years)  First loan: BDT 4,000/-		
Further Information: (v) Who pays GB loan installment (vi) Mobile lady (vii) Grameen Education Loan (viii) Any other loan like GB, BRAC ASA etc	: : :	Existing Loan: BDT 80,000 , Outstanding loan: BDT 42,300/- Father No No No		

#### BRIEF BIO OF THE PROPOSED NOBIN UDYOKTA (CONT...)

Present Occupation(Besides own business, i.e., persuading further studies, other business etc.)	:	Nil
Business Experiences and	:	3 years experience in running business.
Training Info	:	He has no training.
Other Own/Family Sources of Income	:	House Rent
Other Own/Family Sources of Liabilities	:	None
Entrepreneur Contact No.	:	01929-371956
Mother's Contact No.	:	01947478113
NU Project Source/Reference	:	Grameen Shakti Samajik Byabosha Ltd. Kaliakair Unit, Gazipur

#### BRIEF HISTORY OF GB LOAN UTILIZATION BY HIS FAMILY

PIYARA BEGUM joined Grameen Bank since 09 years ago. At first she took 4,000 taka loan from Grameen Bank. She gradually took loan from GB. Utilize loan in business & home development.

Proposed Nobin Udyokta Business Info			
Business Name	:	MASUD ENTERPRISE	
Location	:	Lohakoir, Mouchak, Gazipur	
Total Investment in BDT	:	BDT 2,80,000/-	
Financing	:	Self BDT 1,80,000/-(from existing business) 64% Required Investment BDT 1,00,000/-(as equity) 36%	
Present salary/drawings from business (estimates)	:	BDT 5,000/-	
Proposed Salary	:	BDT 5,000/-	
Size of shop	:	10 ft x 10 ft= 100 square ft	
Security of the shop	:	-	
Implementation	:	<ul> <li>The business is planned to be scaled up by investment in existing goods like; Rice, Flour, Soyabin, Salt, Soap, Cosmetics, Soft Drinks, Biscuit, Chanachur etc.</li> <li>Average 15% gain on sale.</li> <li>The business is operating by entrepreneur. Existing no employee.</li> <li>After getting equity fund one employee will be appointed.</li> <li>The shop is rented.</li> <li>Collects goods from Konabari.</li> <li>Agreed grace period is 3 months.</li> </ul>	

Existing Business (BDT)					
Particular	Daily	Monthly	Yearly		
Revenue (sales)					
Grocery Item	3,350	100,500	1,206,000		
Total Sales (A)	3,350	100,500	1,206,000		
Less. Variable Expense					
Grocery Item	2,848	85,425	1,025,100		
Total variable Expense (B)	2,848	85,425	1,025,100		
Contribution Margin (CM) [C=(A-B)	503	15,075	180,900		
Less. Fixed Expense					
Rent		1,500	18,000		
Electricity Bill		1,000	12,000		
Mobile Bill		200	2,400		
Salary (self)		5,000	60,000		
Transportation		1,000	12,000		
Total fixed Cost (D)		8,700	92,400		
Net Profit (E) [C-D)		6,375	88,500		

Investment Breakdown					
Particulars	Existing	Proposed	Proposed Total		
Rice (10 x 1800)	10,000	25,000	35,000		
Flour (50 x 30)	1,500	5,000	6,500		
Sugar (30 x 45)	1,350	5,000	6,350		
Soyabin Oil (50 x 90)	4,500	25,000	29,500		
Biscuit, Soap, Cosmetics	57,650	16,000	73,650		
Salt, Water, Spice, Egg	40,000	15,000	55,000		
Noddles, Bulb, Candle light, Chips etc	25,000	9,000	34,000		
Soap (250 x 40)	10,000	0	10,000		
Biscuit (200 x 50)	10,000	0	10,000		
Fridge (1)	20,000	0	20,000		
Total	180,000	100,000	280,000		

#### **Source of Finance**



Financial Projection (BDT)						
Particular	Daily	Monthly	1st Year	2nd Year		
Revenue (sales)						
Grocery Item	5,550	166,500	1,998,000	2,097,900		
Total Sales (A)	5,550	166,500	1,998,000	2,097,900		
Less. Variable Expense						
Grocery Item	4,718	141,525	1,698,300	1,783,215		
Total variable Expense (B)	4,718	141,525	1,698,300	1,783,215		
Contribution Margin (CM) [C=(A-B)	833	24,975	299,700	314,685		
Less. Fixed Expense						
Rent		1,500	18,000	18,000		
Electricity Bill		1,000	12,000	13,000		
Mobile Bill		200	2,400	3,000		
Salary (self)		5,000	60,000	60,000		
Transportation		1,000	12,000	14,000		
Salary (staff)		3,000	36,000	36,000		
Non Cash Item						
Depreciation		333	4,000	4,000		
Total Fixed Cost		12,033	144,400	148,000		
Net Profit (E) [C-D)		12,942	155,300	166,685		
Investment Payback			60,000	60,000		

## Cash flow projection on business plan (rec. & Pay)

SI#	Particulars	Year 1 (BDT)	Year 2 (BDT)
1	Cash Inflow		
1.1	Investment Infusion by Investor	100,000	
1.2	Net Profit	155,300	166,685
1.3	Depreciation (Non cash item)	4,000	4,000
1.4	Opening Balance of Cash Surplus		99,300
	Total Cash Inflow	259,300	269,985
2	Cash Outflow		
2.1	Purchase of Product	100,000	
2.2	Payment of GB Loan		
	Investment Pay Back (Including Ownership		
2.3	Tr. Fee)	60,000	60,000
	Total Cash Outflow	160,000	60,000
3	Net Cash Surplus	99,300	209,985

#### SWOT ANALYSIS

## Strength

Employment: Self: 01 Family:0 Others:01

Experience & Skill: 03 Years

Quality goods & services;

Skill and experience;

## WEAKNESS

Lack of Capital/Investment

### **O**PPORTUNITIES

Huge demand in the community Location of shop; Regular customers;

#### THREATS

Theft

Fire

Political unrest

# Pictures

















	1000			
	10	Eath (	7.6	3
		料	7	)
	16			1
	3	30	4	3
12-			88	

गारेरमम शुक्रिम्पर मारेरमम स्टिन् वादिर : ०४१० है।

# ট্রেড লাইসেন্স

অ-মিক নং

10000-26 गाइटमन ১৬ জানুমানী ২০১৩ খিষ্টাব্দে প্রকাশিত এস, আর ও নং ১৭ আইন/২০১৩-মুলে সৃষ্ট গা

অধীন বিভিন্ন পেশা, বাবসা ও জীবিকার জন্য সিটি কর্পোরেশন আইন, ২০০৯-এর অধ্যায়-২, মূলে বিম্নুনিত ব্যক্তি প্রতিষ্ঠানকে নির্ধারিক শর্তাধীনে ৩০ জনু, ২০.... প্রিষ্টাব্দ পর্যন্ত বর্ণিত স্থানে ব্যবসা পরিচালনার জন্য ট্রেড লাইসেই ইদান করা ইইপ।

০১। সত্তাধিকারী/সত্তাধিব	কারীগণের বিবরণঃ	
ক) নামঃ	12/12 2/10/16 AM	
খ) পিতা/স্বামী ঃ	6. 6.	
व) मिला/ रामा का	ियाः लायप्रिय याप	
গ) মাতাঃ	हिण्यांवी जग्रम 0	
घ) आशी ठिकानाः	्योहाक जामी ह्यू अपूर्व जामा ह्यू	
০২। ব্যবসা প্রতিষ্ঠানের	विवर्त्तमंड	
ক) প্রতিষ্ঠানের নাম	ध्यायर असीत अधिक	
খ) যাবসার ধরণ	अक्रिन सलायको ।	
ণ) ঠিকানা	ः त्याशिकरं कामिश्रध्य गायश्य	600
৩৩। ফিস/করের বিবরণঃ	ু ক) লাইসেন্স ফিস ঃ হালসন	-0:
	খ) বিভাপন কর ঃহালসনবিকেয়াবিকেয়া	
	্ব সারচার্জ শ বিবিধ তথ্	70
	अर्वसाठ हैगाठ हारू भारतिया दिएक	
	কথায় ঃ	
		0
এই লাইসেলের মেয়াদ	৩০ জুন, ২০? । খ্রিষ্টাব্দ পর্যন্ত বলবং থাকবে।	W -



মেয়র গাজীপুর সিটি কর্পোরেশন

গণপ্রজাতন্ত্রী বাংলাদেশ সরকার Government of the People's Republic of Bangladesh NATIONAL ID CARD / आडीम अतिका अप



নাম: ঝাঃ মাসুদ রানা Name: MD. MASOD RANA পিতা: মোঃ আবদুল গনি মাতাঃ পিয়ারা বেগম

Date of Birth: 07 May 1990 ID NO: 19903313047003448

এই কাঠটি দশ্মজান্ত। বংলাদেশ সংক্ষরের সম্পত্তি। কাঠটি বাবহারকারী বাতীত আদা বাহ কারত সমাজানত নামেসেশ সহকারে সম্পতি, কারত পানহারকার বা তীত জা তেখার সাহয়। সেনে নিরুষ্টি পোন অভিনে জ্বান নেরার জন্য সংগ্রান করা হয়ে। বিকাশ: আবসত নোচাক – ১৭৫২, শালীসুর সমর, শালীসুর সিটি কর্পোরেশন: শালীসুর প্রদানের তারিখ: ০৭/০৯/২০১৩

## **FAMILY PICTURE**

